
 Sally Northen©

How much does it cost?
CAPACITY Level 2     

1000ml = 1l
100cl = 1l
10ml = 1cl

÷10 ÷10

One litre is 1000ml One litre is 1000ml 500ml is half a litre200ml is one fifth of a litre

     1l @ £1.00
 
  
    

      100ml costs 10p

Find the cost of 
100ml then double it

250ml is quarter of a litre 200ml is one fifth of a litre 200ml is one fifth of a litre

Find the cost of 
100ml then treble it

Find the cost of 
100ml then treble it

Find the cost of 
100ml then treble it

Find the cost of
 100ml then double it

Find the cost of
 100ml then treble it

Find the cost of
 100ml then treble it

Find the cost of
 100ml then multiply by 7

  www.tts-group.co.uk/flip-it

 1                                              2                                              3                                             4                                        

5                                              6                                              7                                             8                                   

9                                             10                                            11                                           12                                

13                                            14                                           15                                           16                                


